Summary

From this lecture students learn that

Co-planer lines are the lines which lies on the same plane

X—aq Y= I-n

Is the required plane where the two lines are lying.

ac+bf+cy+d
aql +bm+¢n

The required condition for two lines to be co-planer is

a205 + b2,8+ 027/ + d2
a,l +b,m+c,n

when one line is in general form and the other is

symmetrical form.

The required condition for two lines to be co-planer when the lines are in general

form is

Shortest distance between skew lines in the length between than
which is perpendicular to both skew lines.

In projection method the length of the shortest distance given by

(g —ay) +m(BL—B2) + (11— 72)



